Murray Dahl Beery & Renaud LLP

Attorneys at Law 710 Kipling Street, Suite 300 Lakewood, CO 80215

Ph:303-493-6670

Fax:

June 6, 2019

City of Salida The Touber Building 448 E First Street, Suite 112 Salida, CO 81201

Attention:

P. T. Wood, Mayor

Matter #:

17-269

Inv #:

15267

RE:

General Counsel

DATE	DESCRIPTION	ATTY	RATE	HOURS	AMOUNT
May-01-19	T/C w M. Varnum re franchise agreement with Charter Communications; conf w G. Wilson re same; analyze and review redline version of franchise agreement; email correspondence w Charter; advise D. Nelson re IT professional services agreement; follow up correspondence re same and outstanding items for 5/7 City Council meeting.	NPW	\$170.00	1.00	170.00
May-02-19	confer w NW re mtg notices and e-sessions	GTW	\$200.00	0.50	100.00
	Meeting w J. Lee from Charter Communication re franchise agreement; negotiate and resolve issues for same; conf w. D. Nelson re same; conf. w. M. Varnum and D. Lady re outstanding items in contract and follow up questions after meeting to resolve agreement; strategize and draft and edit for same; recommend revised terms for contract; conf w G. Wilson re same; conf w G. Van Nimwegen re provisions in contract and his recommended language for same	NPW	\$170.00	1.75	297.50
	Draft executive session language for 5/7 meeting; conf w G. Wilson re same; conf w and advise S. Walter re same and other questions re 5/7 council meeting;	NPW	\$170.00	1.50	255.00

Invoice #:	15267	Page	2			June 6,	2019
	meeting; co advise G. V Developme Amendmen questions re council mee	•	same; fudd t t ip ion of 5/7				
	amending s and draft or 5/7 packet;	l analyze ordinanc ystem developmer dinance; finalize s advise B. Almquis gen re same	nt fees; edit same for	NPW	\$170.00	0.75	127.50
May-03-19	correspondi council mee meeting and	analyze agenda p ng documents for eting; prepare for 5 d presentations at s	5/7 5/7 council same	NPW	\$170.00	1.50	255.00
	response to Walter re sa professiona and for reco City's templ same; conf	analyze document CORA request; ac me; review and ar I service agreement mmended languag ate; conf w D. Ne w D. Lady re languag preement and edits	lvise S. nalyze nt for city ge for lson re uage in	NPW	\$170.00	1.25	212.50
	w attorney f confidential issue for res same; conf	title company and or property owner property and control colution of same; property D. Nelson re same and the control colution of same of same	re tractual prepare for me; email	NPW	\$170.00	1.25	212.50
	license; drate proposed character for a	elyze proposed confit edits; comment anges and negotial executive session and negotiations and negotiations are.	on te same; re same;	NPW	\$170.00	1.00	170.00
May-05-19	advise S. W	analyze CORA re alter and PT Wood Vilson re same	-	NPW	\$170.00	0.25	42.50
May-06-19	ROW issues confer w SV	W re various contr s, e-sessioin proce V re CORA reques	edures; sts	GTW	\$200.00	1.00	200.00
	meetings an prepare for and presenta	G. Wilson re upcord outstanding legals 5/7 executive sessitations; draft memorish for executive sessions.	al issues; ion topics os for	NPW	\$170.00	3.00	510.00

and in preparation of executive session and city council meetings and staff meetings; conf w D. Nelson and P Wood re same; prepare with staff for meetings; advise and answer staff questions re 5/7 agenda items; analyze CORA policy and answer questions re same; research re same; outline presentations and research and analysis for 5/7 city council meetings				
Review and analyze and edit franchise agreement with Charter; correspondence w Charter re same and outstanding issues and items; conf w staff and G. Wilson re same; prepare for staff meeting on charter franchise agreement; drafted edited language for same and to resolve same	NPW	\$170.00	1.00	170.00
Review input and details re: conditional use application; analyze same for meeting w G. VanNimwegen; correspondence w staff re same; advise S. Walter re city code and short term rental questions;	NPW	\$170.00	0.75	127.50
Meeting w Golf Club president and accountant re utility bills and contract issues and institutional background and property information; update staff re same	NPW	\$170.00	1.00	170.00
Meeting w M. Varnum re Charter franchise agreement, specific amended language and past costs and purchases; discuss finalization of agreement and strategy for negotiation; update staff re same; conf w G. Wilson re same	NPW	\$170.00	1.00	170.00
Meeting w PT Wood and D. Nelson re various updates and upcoming issues as well as agenda items for City Council meeting and executive session topics; advise at same.	NPW	\$170.00	0.75	127.50
Attend and advise council and staff at City Council meeting	NPW	\$170.00	2.25	382.50
Attend and advise council at City Council executive session; follow up research, analysis and work for same	NPW	\$170.00	1.50	255.00
Meetings w staff to advise and discuss upcoming or outstanding legal	NPW	\$170.00	0.75	127.50

May-07-19

Invoice #:	15267 Page 4			June 6, 20	019
	assignments and issues; further preparation for council meetings				
May-08-19	Conf w D. Nelson re entitlement transfer and other outstanding legal issues and assignments; conf w S. Walter re same and advise same re	NPW	\$170.00	1.75	297.50
	CORA requests, responses, business licenses and other legal questions; meeting w D. Nelson re: staff and oth meetings and agreements to draft and documents to analyze and advice to g to staff for future projects; conf w G. Wilson	l give			
	Attend and advise at Department Heastaff meeting; answer legal questions and take down legal assignments	_ · · _ · ·	\$170.00	1.00	170.00
	Meeting w G. Van Nimwegen re outstanding and upcoming land use applications; advise re same; answer follow up questions re same; take do legal assignments for same.	NPW wn	\$170.00	1.00	170.00
May-09-19	Conf w S. Walter re STRs and recommended code changes for same and answer follow up legal questions same; advise re same and on vendor permit issues; conf w D. Nelson; revi and analyze letter to vendor; research and analyze code for same; draft amended language for letter re busine licensing and code provisions; prepar for council meeting re STR code changes; advise S. Walter re same	re	\$170.00	1.50	255.00
	Correspondence and negotiation with attorney re conditional license on RO and discussion of recommended language and changes; advise G. Van Nimwegen re reduced PIFs for ADUs assistance of similar ordinance; analy same; review and analyze IGA w Chaffee County and advise G. Van Nimwegen, D. Lady and D. Nelson re same; plan and recommend next step same	oW s in vze	\$170.00	1.25	212.50
May-10-19	Prepare for conference call; research code; analyze proposal and facts; call G. VanNimwegen before meeting and conference call; Conference call with Alliance re potential land use application; consult and plan w G.	l	\$170.00	2.25	382.50

Invoice #:	15267	Page	5			June 6,	2019
	VanNimwe application applicant; Review an advise S. V	egen after call; advi egen after and prepa n; follow up corresp answer follow up q d analyze CORA re Valter and D. Nelso correspondence re s	ere for condence w uestions equest; on re same;	NPW	\$170.00	0.25	42.50
	P.D. modif law for san re same; ac D. Nelson issues re sa	d analyze specifics fication application; ne; analyze code and vise G. VanNimwe on numerous quest me; draft electronic w G. Wilson re sand same	research ad specifics egen and ions and c memo re	NPW	\$170.00	1.50	255.00
May-11-19	application gathered at follow up o staff; email Jefferson a ownership analyze lav	d analyze proposed by Alliance and deconference call to questions and help placed correspondence with G. VanNimwege details and research and code re same; thence we applicant and code and code and code re same; thence we applicant and code and co	etails answer prepare K. en; review and stollow up	NPW	\$170.00	0.75	127.50
May-13-19	franchise a accountant and close of amend, drawaiver; advances Thomson recorrespond advise S. Valing; resessame; followalter and letter re ou	arter communication greement; t/c w tax re final NRCDC tax re final NRCDC tax out processes for sand the and finalize recrevise S. Walter and I we same; follow up lence and advice re Valter re OLT quest arch, review and anow up correspondent D. Nelson re same tdoor vender for pe and code provision	eation same; ion for late ealyze for ce w S. ; analyze rmit	NPW	\$170.00	2.50	425.00
	code for sa	me; draft amended dvise S. Walter and	language				
	request; ad w PT Wood	d analyze response vise S. Walter re sa d re same; follow usence with city staff same	me; conf	NPW	\$170.00	0.25	42.50
	conditional	d analyze Crest Aca l use approval and a ; conf w G. VanNin	ssociated	NPW	\$170.00	0.75	127.50

Invoice #:	15267	Page	6			June 6,	2019
May-14-19	proposed appl questions re c T/c w A. Papp CORA reques analyze docur same; analyze for advice re s same; corresp advise on sam	ion re same; con licant re same ar ode and process penfort re respon t; obtain and rev ments for respon e request; t/c w S same; conf w G. ondence w PT V te CORA reques	and answer a for same use to view and ading to S. Walter Wilson re Wood to st and	NPW	\$170.00	0.75	127.50
	amendment to advise G. Van research code VanNimweger conditional us legal analysis	nalyze proposed Peternell agree Nimwegen acco for same; conf v n re another pote e applicant and for same; corres results of resea	ment; ordingly; w G. ential details and spondence	NPW	\$170.00	0.75	127.50
	tickets and entanalysis of iss submit memo work session mamendments; Walter and D. same; review make recommade code concernity	Iter re question of forcement of sar ue; review and e and documents re short term ren advise and conf Nelson in prepa and analyze cod endations re Ch ng business lice e same and outs	me; edit and for 5/20 atal code w S. aration of e and apter 6 of nsing; t/c	NPW	\$170.00	1.25	212.50
	attorney re con	ce w property or afidential proper sue and resolutions son re same	rty and	NPW	\$170.00	0.25	42.50
May-15-19	and concerns a request and re Walter on resp and recommen approach; con Varnum re cha and placement agenda; negot Charter; conf	e w staff to adv	e CORA advise S. request nd nd M. greement ouncil greement w	NPW	\$170.00	1.25	212.50

Invoice #:	15267	Page 7			June 6,	2019
May-16-19	mountain le accordingly documents advise D. N. Nelson re corresponde for 5/20 and packets; adviretention quattorney redocuments acconcerning	l analyze tenderfoot ease; advise D. Nelson e; review 5/21 council re attorney scope of work; felson re same; conf w D. conditional license and details ent; follow up ence for same; preparation 1 5/21 council agenda vise S. Walter re records testions; conf w CIRSA CORA request for and analysis of law same; conf w D. Nelson; correspondence w CIRSA	NPW	\$170.00	2.25	382.50
	documentat information information estimate tim respond to 0 Walter re sa additional 0 same; conformesponse let	DRA request, review ion and confidential and analyze what must be redacted and he it will take to do so to CORA request; conf w S. me; conf w PT Wood re CORA request and advise re w S. Walter and G. Wilson re ters to CORA requests and anguage for same; conf w D. hame	NPW	\$170.00	0.75	127.50
	applicant re conditional review and questions fo	red memo to potential follow up questions for use permit application; analyze code and facts and or same; conf w vegen and applicant re same	NPW	\$170.00	0.75	127.50
	documents i Berrier, Esq notebook of	received from Timothy (CIRSA); create a labeled same for ease of use by City or redaction of documents by	WFC	\$68.00	1.00	68.00
May-17-19	agreement; of conf w tax a advise S. W rules of proquestions; c Nelson and IGA w coun	I review professional service conf w S. Walter re same; accountant re final tax return; alter re council meeting cedures and other legal onf w G. VanNimwegen, D. D. Lady re building dept ty; correspondence wartment re solar panel bills	NPW	\$170.00	0.75	127.50

Invoice #:	15267	Page	8			June 6,	2019
	request resp documents a advise re fo	Valter re response onse and redaction and information re llow up corresponders re same	n of same;	NPW	\$170.00	0.25	42.50
	and 5/21 condraft and confood truck properties analyze for a corresponder analyze agent documents; 5/20 council ment of the co	5/20 council work uncil meeting; resempile packet materies resentation; outlines ame; follow up ence re same; reviet adas, packets and prepare presentation work session; comber re associated ad assignments; country and discussion of D. Nelson on spatial tetter and reconnect w G. Wilson re	earch, erials for the and ew and on for inf w legal inf w S. term ins; advise ecific inmended	NPW	\$170.00	3.50	595.00
May-20-19	responses, le language and advice re cle outstanding business lice and short ter	S. Walter re CORA etters for same; stand d other legal quest erk's duties and rol- legal assignments ensing issues and community rentals and food ration of tonight's	indard ions and es and ; conf re questions d trucks	NPW	\$170.00	1.00	170.00
	real property	eccounting staff re questions and re cts; meeting w D. gal question	solar	NPW	\$170.00	0.25	42.50
	applicant re updates; ana process for remeeting w Constant and second analyze all mand code for conclusions	Planned Developm proposed modificallyze law and explanodification and explanodification and explanodification and expland after same is and strategy for saledvise on the law naterials, documents are to make legand recommendation up advice re same	ations and ain extensions; and D. an me; for same; ats, plans al ions on	NPW	\$170.00	1.75	297.50
	Meeting w I Jefferson, G	D. Nelson, S. Walto VanNimwegen and food truck propos	er, K. nd B.	NPW	\$170.00	1.00	170.00

prioritize and strategize and direct same; give D. Nelson updates on work and in preparation of upcoming meetings; meeting w S. Walter re issues stemming from last night's meeting and in anticipation of tonight's meeting and other legal issues and questions; meeting w councilmember re tonight's council meeting and advice for same; conf w G Wilson re same Meeting w K. Smith and S. Walter re

STR violation letters; analyze code and STR application for same; research for same; edit and draft violation letter for K. Smith; advise K. Smith re same Meeting w tax accountant re final tax return, answer questions re same; receive advice re same; present documentation and information to finalize same; compile, analyze and

NPW \$170.00 1.00 170.00

NPW \$170.00 1.00 170.00

Invoice #:	15267	Page	10			June 6,	2019
	review documer Wilson re same;		onf w G.				
	Advise S. Walte request and anal information and conf w D. Nelso same	ysis of redacted anticipated tim	d ne spent;	NPW	\$170.00	0.25	42.50
	Follow up correct conditional licer other party and of preparation of citonight	ise agreement; city staff and in	conf w	NPW	\$170.00	0.50	85.00
May-22-19	Conference call property owner and contractual resolution and defollow up correst negotiation for some; Draft of memorandum to other related consame	for confidential same and regard ocuments for same pondence for same and finalized onfidential. Mayor re same	I property ding final ame; ame; ze details	NPW	\$170.00	0.75	127.50
	Draft confidentiand G. VanNimy planned develop of code and anal and proposals, cofor same; conf w follow up advice	wegen re modif ment and with ysis of specific onclusions and G. Wilson res	ication of research facts advice	NPW	\$170.00	0.75	127.50
	Review agreeme company re past negotiation of fu w D. Nelson re s staff and general up	agreements an ture amendmen ame; correspon	d nts; conf ndence w	NPW	\$170.00	0.50	85.00
May-23-19	Advise S. Walter license application hearing and logist for same and ana same; advise S. publication and a research and ana up corresponden documents for C agreement; follo and legal advice Wilson re same.	on and associate stics re same; reallyze issues con Walter on notice newspaper questlyze for same; ce re same; revenue tharter franchism up corresponder.	ted esearch ncerning ee, stions; follow view e ndence	NPW	\$170.00	1.00	170.00

Invoice #:	15267	Page	11			June 6,	2019
	Preservation amendments analyze code	analyze Historic ordinance; recom for same; researc for same; draft n ecommendations	ch and nemo to K.	NPW	\$170.00	0.50	85.00
May-24-19	license transforevocation are research and statutes for sa concerning all same; advise up correspondegal question 4th meeting a	analyze letter re liver issues and pot de suspension for analyze city code ame; draft letter to l; amend and fina S. Walter re same; dence re same; and as on same; preparagenda item on sa	ential same; e and state o licensee alize e; follow nswer are June ame	NPW	\$170.00	1.00	170.00
	license questi and proposal state statute a S. Walter to d	analyze unique lon re entertainme concerning same nd City code, and letermine recommow up correspondame	ent district ; research d conf w nendations	NPW	\$170.00	0.50	85.00
	advise S. Wal	nalyze CORA reter re same; folloce and guidance	ow up	NPW	\$170.00	0.35	59.50
May-28-19	and joint Plar Council meet	mquist re 6/3 wo uning Commissio ing; and food tru- and draft ordinan ame	n and City ck code	NPW	\$170.00	0.25	42.50
	CORA request requests and requests analyze COR analyze resporequests; advi	elson and G. Wils at and future simi releases; Review A request; review nsive documents se S. Walter and ame; follow up a ce re same	lar and v and to CORA B.	NPW	\$170.00	0.50	85.00
	and analyze a license questi same and spe- entertainment corresponden	lter re fee schedund research unique on; advise S. Wa cial event permits district; follow use and research reand recommendation	ue liquor lter re s and up e same;	NPW	\$170.00	0.50	85.00

Invoice #:	15267	Page 12			June 6,	2019
	Research marijuana state statutes, regulate City code; advise S. and for future forms submission requirem	tions, resources and Walter accordingly and applicants and	NPW	\$170.00	0.50	85.00
	Follow up correspon applicant for condition application; answer or review same	dence w potential onal use	NPW	\$170.00	0.25	42.50
	Conf w D. Nelson and VanNimwegen re port to Planned Development issues for same	tential modification	NPW	\$170.00	0.25	42.50
May-29-19	Review and analyze preservation ordinand Jefferson re same; co CORA responses and legal questions and is	ce; advise K. onf w S. Walter re d requests and other	NPW	\$170.00	0.25	42.50
May-30-19	Draft ordinance appragreement for 6/4 cow M. Varnum re same form Charter Communication of W. Wilson refinalize franchise agrapproval; conf w. S. Vareview invoice for fill negotiate same w. Ch. Communication; foll correspondence w. M.	uncil packet; confue; conf w J. Lee unication re same; same; amend and reement for council Walter re same; ber optic and arter ow up	NPW	\$170.00	1.25	212.50
	Prepare S. Walter for authority meeting recause hearing for alleviolation within city; and analysis re same; for 6/4	liquor licensing request for show eged liquor code follow up advice	NPW	\$170.00	0.50	85.00
	Review and analyze of changes re temporary activity; conf w B. A review and research same in preparation of work session	commercial lmquist re same; same; advise on	NPW	\$170.00	0.50	85.00
May-31-19	Review and analyze senforcement issues as code changes; review department questions re liquor license viola B. Almquist re food to and recommended commended	nd recommended y finance s; advise S. Walter ation issues; conf w cruck agenda items	NPW	\$170.00	1.00	170.00

Invoice #:	15267	Page 13			June	6, 2019
	grazir lease; prepa Revie re stre Tihon	sis of same; review and analyze and license agreement and UPRR advise D. Nelson re same in ration of 6/4 council meeting. w and analyze contract and exhibit set sweeper; advise D. Lady and A. ovich re same; follow up spondence re same	NPW	\$170.00	1.00	170.00
	Totals				80.35	\$13,692.50
DISBURSE	MENTS			·		
May-31-19	May Pr 5/7/19	rints/Copies 648 @ 0.10 rints/Copies (color) 64 @ 0.50 Attended Salida City Council Meeting		64.3 32.0 154.3	00	
	5/20/19	ff meetings 266 @ 0.58 Attended Salida City Council Work and staff meetings 266 @ 0.58		154.	28	
	5/21/19	OG. Wilson Roundtrip to/from on to Salida 248 @ 0.58		143.	84	
	Totals			\$549.2	20	,
	Total F	ee & Disbursements			\$14,	241.70
		as Balance as Payments			•	204.34 204.34
	Balanc	e Now Due		\$14,241.70		
TAX ID Num	ber 20-	1943771				
		TIMEKEEPER LIS	T			
	GTW	Geoffrey T. Wilson			ssociate	
_	NPW	Nina P. Williams			ssociate	
7	WFC	Winona Correa		P	aralegal	